Prison Bowl V

Questions written and edited by Hunter College High School (Mehnaj Ahmed, Lily Chen, York Chen, William Dou, Matthew Gurevitch, Willie Ha, Sarah Hamerling, Sophey Ho, Brent Morden, Alex Moschetti, Paul Moschetti, Tenzin Norzin, Wilton Rao, Karina Xie, David Xu, Richard Yu, Marianna Zhang, Zihan Zheng).

Round 09 – Tossups

1. One battle that occurred in this location saw intense fighting over Hill 304 and constant shelling on the “Sacred Way.” One treaty was signed here as a result of the Oaths of Strasbourg, and split Louis the Pious’ empire. Crown Prince Wilhelm opposed French forces commanded by Robert Nivelle here, and both sides sought to take Fort Vaux in this location. Falkenhayn sought to “bleed to death” his enemy in this place after his offensive was stopped at the Marne. Marshal Petain declared that “They shall not pass!” in, for 10 points, what site of a ten-month long World War I battle?

ANSWER: Verdun [accept Battle of Verdun] <ZZ>

2. This region has an inverse quartic brightness slope, and at a one-to-two resonance, it has a namesake “cliff.” Divided into cold and hot populations, this region is home to Weywot and Quaoar. It is thought to be the source of centaurs and its outer edge overlaps with the scattered disc. Varuna, Haumea, Sedna, and other cubewanos lie in this region, which is also the source of short-period comets. It lies much closer to the sun than the Oort cloud, and is home to trans-Neptunian objects like Pluto. For 10 points, name this belt-shaped region at the edge of the solar system.

ANSWER: Edgeworth-Kuiper Belt <BM>

3. Anatol Rapoport created a simulation of this concept using four lines of BASIC code, while another simulation is called Pavlov. A related problem posited by Rousseau is the stag hunt, and this concept was first described by RAND Corporation employees Melvin Dresher and Merrill Flood. Two strategies for a repeated application of this problem are “tit-for-tat” and “win-stay, lose-switch.” One example with multiple players is the tragedy of the commons, and the only Nash equilibrium for this is when both players defect. For 10 points, name this situation from game theory in which two players have the option to remain silent or “rat out” the other.

ANSWER: prisoner’s dilemma <RY>

4. In one play by this author the tailor’s boy calls the main character “my Lord,” leading to many lessons in dancing, fencing and philosophy; that play ends with a character disguised as the Sultan of Turkey marrying the title character’s daughter. This author wrote about Oronte and the title character Alceste courting Célimène. This author of The Bourgeois Gentleman described how Orgon attempts to have his daughter Mariane, who is already engaged to Valère, married to the title religious hypocrite. For 10 points, name this French playwright of The Misanthrope and Tartuffe.

ANSWER: Molière [accept Jean-Baptiste Poquelin] <BM/YC>

5. This artist painted a man milking a mare while another man offers the central figure a basket of food in his Ovid Among the Scythians. He depicted an African servant leaving on the left while the subjects are seated around a hookah in one work. A woman dressed in white is about to fall onto a pile of rubble in his Greece on the Ruins of Missolonghi. Besides the aforementioned Women of Algiers, his most notable work depicts the Bastille in the background as a half-nude woman holding a flag in one hand and a bayonet in the other steps over a pile of bodies. For 10 points, name this artist of Liberty Leading the People.
ANSWER: Ferdinand Victor Eugene Delacroix <SoH>

6. The battles of Xiangyang (“see-ang yang”) and Yamen brought an end to this dynasty, which had earlier suffered the Jingkang Incident and sued for peace with its northern rival by executing the general Yue Fei (“yu-eh fey”). This dynasty lost its capital at Kaifeng and relocated the imperial court to Hangzhou (“hang jo”), marking the transition between its Northern and Southern periods. This dynasty was forced to submit to the Jurchens in the north, who would be defeated by an enemy even further north. For 10 points, name this dynasty that developed gunpowder, and that was conquered by the Mongols.

ANSWER: Song Dynasty [accept Northern Song Dynasty until “Xiangyang” is read] <RY>

7. This movement was influenced by the teachings of Emmanuel Swedenborg, and the Ripleys attempted to establish a community based on its beliefs as a joint-stock company. Its members discussed their ideas in The Dial, a newspaper edited by Margaret Fuller. It was influenced by the Vedas, and prominent members of this movement included Elizabeth Peabody, William Channing, and Amos Bronson Alcott. Its founder compared himself to a transparent floating eyeball to describe an experience of nature. For 10 points, name this American philosophical movement founded to counter English Romanticism by Henry David Thoreau and Ralph Waldo Emerson.

ANSWER: transcendentalism [accept word forms] <ZZ>

8. In a work by this author, the speaker wonders “Who shall say I am not / the happy genius of my household?” after dancing “naked, grotesquely / before my mirror / waving my shirt round my head.” This author of “Danse Russe” describes the title flower as “like a buttercup / upon its branching stem” in “Asphodel, That Greeny Flower.” His poems include one where the narrator has eaten plums that were “so sweet / and so cold” and another where the title object lies “glazed with rain water / beside the white / chickens.” For 10 points, name this poet of “The Red Wheelbarrow.”

ANSWER: William Carlos Williams <YC>

9. In one model of these structures’ development, the B gene interacts with the A and C genes to determine the makeup of their four layers. Their primitive and advanced types are distinguished by the presence of a structure consisting of the corolla and calyx, called the perianth. They are supported by pedicels and peduncles, and their bases are surrounded by sepals. Parts of these structures include ovules, styles, and stigmas, and they are absent in gymnosperms. Featuring carpels, stamens, and pistils, these structures spread and receive pollen. For 10 points, name these plant structures with petals.

ANSWER: flowers [prompt on “blossoms” or “blooms”] <LC>

10. In one of his more popular works, the title character gives a bracelet to the prince Ramillo in the aria “Si, ritrovarla io giuro” before returning to the stove of her stepfather Don Magnifico. In another of this composer’s works, the title character takes two arrows from Austrian soldiers and sings the aria “Sois immobile” to his son Jemmy; that work is Guillaume Tell. In yet another of his works, characters include Dr. Bartolo and Figaro, who is the title character. For 10 points, name this Italian composer of The Barber of Seville.

ANSWER: Gioachino Antonio Rossini <WH>

11. The Lady of the Lake gave three of these objects to Lancelot which multiplied his strength. Odin summoned a ring of fire surrounded by these objects to imprison the valkyrie Brynhildr. Rome would not fall as long as the Ancile, one of these items owned by Mars, was preserved. After betraying the Romans to the Sabines, Tarpeia was crushed by these objects. Hrungnir stood on one after Thjalfi told him that Thor was underground. Perseus received a polished one from Athena, which he used to safely look at Medusa. Her head was then placed on one of these in Athena’s possession. For 10 points, name these protective objects exemplified by the Aegis.

ANSWER: shields [accept bucklers or equivalents] <WR>

12. These entities’ free energy is minimized when “del squared of B equals B over lambda squared,” according to the London equation. They are characterized by the coherence length and penetration depth in Ginzburg-Landau theory, and they are classified as Type I or Type II. These substances’ properties arise from phonon exchanges between Cooper pairs of electrons, and they become perfectly diamagnetic by expelling magnetic fields from their interior. Governed by BCS theory and exhibiting the Meissner effect, they typically exist at low temperatures. For 10 points, name these materials with zero electrical resistance.

ANSWER: superconductors <LC>

13. As Secretary of State, this man welcomed Lajos Kossuth in exile. This man, who is not Lincoln, originated the term “of the people, by the people, for the people” in his “Second Reply to Hayne” defending high tariffs. In one legal defense he invoked the Contract Clause, saying “and yet there are those who love it” in reference to Dartmouth College. He resolved the Aroostook War and the US-Canada border in a treaty he negotiated with Ashburton. For 10 points, name this member of the Great Triumvirate along with Calhoun and Clay, a Senator from Massachusetts.

ANSWER: Daniel Webster <RY>

14. TMEDA has a high affinity for this element’s ions. Its aluminum hydride can reduce esters into primary alcohols. The 2009 death of UCLA researcher Sheharbano Sangji was caused by this element’s flammable tert-butyl compound, which is a very strong base. Like strontium, it gives a crimson flame test, and it has the highest 2nd ionization energy of all the elements. Bombarding this element’s lightest isotope with neutrons produces tritium and helium, and its carbonate salt is used to treat bipolar disorder. For 10 points, name this lightest alkali metal with atomic number 3 and symbol Li.

ANSWER: lithium <LC>

15. This musician’s first major hit was when he was 13, titled “Fingertips (Pt. 2),” featuring Marvin Gaye on the drums and this singer on vocals, bongos, and the harmonica. In one of his songs, the lyrics start off with “No New Year’s day to celebrate / No chocolate-covered candy hearts to give away” and in the chorus he recites the titular phrase, followed by “And I mean it from the bottom of my heart.”  Some of this Motown singer’s albums include Songs in the Key of Life and Innervisions.  For 10 points, name this singer, most famous for the song “Superstition,” who has been blind since birth.

ANSWER: Stevie Wonder [accept Stevland Hardaway Morris; or Stevland Hardaway Judkins] <BM>

16. One song in this novel is described as sounding like a combination of “La Cucaracha” and “Oh My Darling, Clementine.” After giving a speech in favor of a windmill, a character is chased away by dogs under the orders of his former ally. One character’s maxim changes from “I will work harder” to “Napoleon is always right,” while Boxer probably becomes glue. In this novel, Snowball and Napoleon lead a revolution guided by the teachings of their fellow pig Old Major. For 10 points, name this novel by George Orwell.

ANSWER: Animal Farm <SH>

17. One of this man's compositions uses pure intonation that attempts to convey the shock of reaching the edge of a landmass. This composer wrote a work whose first movement repeats a “D” and the syllable “no.” In addition to The Dharma at Big Sur and Harmonium, this composer also wrote an opera about the hijacking of the Achille Lauro by Palestinian terrorists. Besides composing The Death of Klinghoffer, this man composed an opera whose roles include Henry Kissinger and Chou En-lai, and sees the title character meet Mao Zedong. For 10 points, name this American minimalist composer of Nixon in China.

ANSWER: John Adams <WR> 

18. One group of these people carried out the Grattan massacre after the murder of their leader, Conquering Bear. Lone Horn and Touch the Clouds lead one group of these people, the Minneconjou. One of these people, Red Cloud, signed the Treaty of Fort Laramie. Along with the Cheyenne, these people resisted U.S. control of the Black Hills in South Dakota. One group of these people was lead by Sitting Bull and won the Battle of the Little Bighorn against George Custer, but were also massacred at Wounded Knee. For 10 points, name this Native American group that includes the Lakota peoples.
ANSWER: Sioux [accept Lakota until read; accept Brule Lakota until “Lone Horn” is read] <RY>

19. In one poem by this author the title entity separates the speaker from his “swaddling clothes” and “animal sleep” as a river “goes curving / advances and retreats, goes roundabout / arriving forever”. A work by this author describes the title simian contemplating the Garden of Ravana, while he described his countrymen as sons of an “Indian mother” and a “conquering Spanish father” in another work. He was inspired by the Aztec calendar to write “Sun Stone.” For 10 points, name this author of The Monkey Grammarian and The Labyrinth of Solitude, a Nobel Prize winner from Mexico.

ANSWER: Octavio Paz <YC>

20. Mount Hokata is the tallest of the Hida Mountains on this island. The Sanyo Main Line runs along this island’s long coastline with the Seto Sea. This island is connected to Awaji Island by the Akashi-Kaikyo Bridge, which runs to the city of Kobe, located in its Kansai region. The northernmost part of this island is the Tohoku Region, which contains Fukushima Prefecture, and Chiba and Yokohama are located in this island’s most populous area of Kanto. For 10 points, name this largest and most populous island of Japan, containing Osaka and Tokyo.

ANSWER: Honshu <RY>

TB. This quantity’s operator equals “negative i h-bar del,” and it equals Planck’s constant divided by the de Broglie wavelength. The translational invariance of the Lagrangian gives rise to one property of this quantity, which is the canonical conjugate of position. Euler’s first law gives this quantity in terms of the velocity of the center of mass, and it equals zero in the center-of-mass frame of reference. The original statement of Newton’s second law was that force equals this quantity’s derivative. This quantity is conserved in collisions within closed systems. For 10 points, name this quantity equal to mass times velocity.

ANSWER: linear momentum [do not accept “angular momentum”] <BM>

Round 09 – Bonuses

1. This quantity may be decreased by a catalyst. For 10 points each:

[10] Name this energy barrier that must be overcome in order for a chemical reaction to occur.

ANSWER: activation energy

[10] At this point in a reaction, the potential energy is at its highest and equals the activation energy. The Hammond postulate predicts that the structure of this configuration resembles the structure of the reactants in an exothermic reaction.

ANSWER: transition state [prompt on “activated complex”]

[10] In a potential energy diagram of a reaction, this concept is often graphed on the horizontal axis. It represents the progress of the reaction, and may be a function of bond length, bond order, or bond angle.

ANSWER: reaction coordinate <LC>

2. In the wake of Thomas Cole’s death, Asher Durand painted a scene from this poem on how the eternal cycle of nature comforts mortals. For 10 points each:

[10] Name this poem opening with the lines “to him who in the love of nature holds / Communion with her visible forms” which urges the reader to “approach thy grave” like one who “lies down to pleasant dreams”.

ANSWER: “Thanatopsis”

[10] This precocious poet of “Thanatopsis” later regretted his attack on Jefferson in “The Embargo,” and wrote about God’s guidance in his own life in “To a Waterfowl.”

ANSWER: William Cullen Bryant

[10] In his “The Poetic Principle”, this author of “The Philosophy of Composition” criticized epics for their length and praised Bryant’s poem “June” as an example of a poem written for a poem’s sake.

ANSWER: Edgar Allen Poe <MZ> 

3. This man gave legal counsel to American insurgents in the Upper Canada Rebellion, and put down Louis Riel’s Metis rebels in the Red River Rebellion. For 10 points each:

[10] Name this first Prime Minister of Canada who resigned for a short time after the Pacific Scandal.

ANSWER: John Alexander Macdonald

[10] This Liberal Prime Minister helped establish the Charter of Rights and Freedoms and, in response to the October Crisis, famously said “Just watch me” before enacting martial law.

ANSWER: Joseph Philippe Pierre Yves Elliot Trudeau [or Pierre Trudeau]

[10] The October Crisis took place in this province of Canada, and was brought on by abductions by the FLQ. It is home to many French speakers.

ANSWER: Québec <RY>

4. Answer the following about ethology, the study of animal behavior, for 10 points each:

[10] This type of behavior is inheritable and mostly unalterable. Often contrasted with learned behavior, this type of behavior includes reflexes, feeding, and reproductive responses.

ANSWER: instincts or innate behavior

[10] These hard-wired instinctive behavioral sequences must run to completion once begun. They occur when a male red-bellied stickleback fish changes color, when a bird rolls an egg towards its nest, or when a human yawns.

ANSWER: fixed action patterns

[10] The egg-rolling fixed action pattern was discovered by Niko Tinbergen in the greylag species of this bird. Konrad Lorenz also used this bird in his studies on imprinting.

ANSWER: geese or goose <LC>

5. For 10 points each, answer some questions about new and not-so-new leaders of Europe:

[10] Mariano Rajoy became Prime Minister of this country after its previous leader stepped down due to the economic crisis. This country’s unemployment rate is among the highest in Europe at 23%.

ANSWER: Kingdom of Spain [or Reino de España]

[10] This longtime Prime Minister of another economically-stricken country recently resigned. This media mogul was accused of soliciting sex from a minor in February 2011, among his many other scandals.

ANSWER: Silvio Berlusconi

[10] Mario Monti became the Prime Minister of this country after Berlusconi negotiated his resignation with its president, Giorgio Napolitano.

ANSWER: Republic of Italy <RY>

6. The speaker of this poem describes hearing “mind-forg’d manacles”, as well as the Chimney-sweeper’s cry. For 10 points each:

[10] Name this poem where the speaker passes through each of the title city’s “charter’d streets” and sees “marks of weakness, marks of woe,” which first appeared in Songs of Experience.

ANSWER: “London”

[10] This author of Songs of Experience and Songs of Innocence wrote “London” as well as a poem describing the title aniaml “burning bright / in the forests of the night” in “The Tyger.”

ANSWER: William Blake

[10] This poem, often paired with “The Tyger,” asks the title animal “Does thou know who made thee, / Gave thee life, and bid thee feed.”

ANSWER: “The Lamb” <YC>

7. He utilized the technologies of the gramophone and microphone to record works like The Dream of Gerontius. For 10 points each:

[10] Name this English composer of a march often played at graduations, Pomp and Circumstance.

ANSWER: Edward Elgar

[10] This Elgar orchestral piece consists of a theme and 14 variations. Utilizing musical cryptograms, it depicts Elgar’s close friends such as as August Jaeger in its Nimrod variation.

ANSWER: Enigma Variations

[10] Elgar’s Opus 68 was a symphonic study based on this Shakespearean character. Antonio Salieri wrote an opera based on him, but he is better known for his attempts to court the four title characters in the Merry Wives of Windsor.

ANSWER: Sir John Falstaff <WR>

8. This region is home to religious groups like the Nyingma and the Gelug, which are part of the Red Hat and Yellow Hat groups respectively. For 10 points each:

[10] Name this region whose main religion is also followed in places like Ladakh and Sikkim. Its leaders historically resided in the Potala Palace.

ANSWER: Tibet [accept Bod]

[10] This figure is a leader of the Yellow Hat school and, like the Karmapa and the Panchen Lama, he can decide where and how he is reincarnated. The current one, Tenzin Gyatso, leads the Tibetan government in exile.

ANSWER: Dalai Lama

[10] Tibetan Buddhism is also a major religion in this country, whose leaders converted to other religions like Islam after conquering much of the world in the 13th and 14th centuries.

ANSWER: Mongolia <RY>

9. Established by Charles II, this government’s lieutenant governor Francis Nicholson was overthrown in Leisler’s Rebellion. For 10 points each:

[10] Name this government, led by Edmund Andros, that attempted to unite many of the American colonies, and which was overthrown after the Glorious Revolution.

ANSWER: Dominion of New England

[10] This early congress of British colonies debated a plan made by Benjamin Franklin to unify the colonies during the French and Indian War.

ANSWER: Albany Congress

[10] This organization was the governing body of the early United States and drafted the Articles of Confederation. It was dissolved after the enactment of the United States Constitution.

ANSWER: Continental Congress <RY>

10. Answer some questions an artist and his works, for 10 points each:
[10] In this work, the title goddess stands on a seashell after having emerged from the sea fully-formed as one of the graces approaches on the right with a red cloak.
ANSWER: The Birth of Venus [accept Nascita di Venere]

[10] Venus is also the central figure of this work, in which her appearance may have been based on Simonetta Vespucci. Zephyrus seizes the nymph Chloris in this work, and on the left Mercury reaches up to the canopy of trees.
ANSWER: Primavera [accept The Allegory of Spring]
[10] Primavera and The Birth of Venus are works by this apprentice of Fra Filippo Lippi, who also painted Venus and Mars and later in life abandoned his work to become a follower of Savonarola.
ANSWER: Sandro Botticelli <RY>

11. They did not contain hearts, which were kept within the body, or brains, which were simply thrown away. For 10 points each:

[10] Name this set of four containers, each protected by a different deity, holding the stomach, intestines, lungs, and liver of a mummified Egyptian pharaoh.

ANSWER: canopic jars [accept reasonable equivalents, prompt on “jars”]

[10] Some canopic jars have lids resembling this jackal-headed god. Priests and embalmers also wore costumes in his image and he is associated with mummification and the afterlife.

ANSWER: Anubis [accept Inpu or Anpu]

[10] Anubis was often seen carrying this object. Osiris is often shown carrying both the crook and this symbolic tool.

ANSWER: flail <WR>

12. A tea-soaked madeleine brings about tons of volumes of memories in this work. For 10 points each:

[10] Name this long novel that describes Odette de Crecy’s relationship with Charles and Robert de Saint-Loup’s with Gilberte, as well as the narrator’s own relationship with Albertine.

ANSWER: In Search of Lost Time [accept A la recherche du temps perdu or Remembrance of Things Past]

[10] This French author of translations of John Ruskin works and Against Saint-Beuve wrote In Search of Lost Time.

ANSWER: Marcel Proust

[10] Odette de Crecy has a relationship with Charles who has this surname, which titles the first volume. The Baron de Charlus is the supposed lover of Gilberte who has this surname.

ANSWER: Swann <YC>

13. The sum of their internal angles is 360 degrees. For 10 points each:

[10] Give this term for plane polygons with 4 edges. Examples include squares, rectangles, parallelograms, and trapezoids.

ANSWER: quadrilaterals

[10] Ptolemy’s theorem relates the diagonals and side lengths of one of these quadrilaterals, whose vertices all lie on the same circle. Their four sides have concurrent perpendicular bisectors, and their opposite angles are supplementary.

ANSWER: cyclic quadrilaterals or inscribed quadrilaterals

[10] This formula named after an Indian mathematician gives the area of a cyclic quadrilateral in terms of its side lengths. It is a special case of Bretschneider’s formula, and it generalizes Heron’s formula for triangles.

ANSWER: Brahmagupta’s formula <LC>

14. His reign saw the Ausgleich, which created the dual monarchy of Austria-Hungary, and his brother Maximilian was killed by Mexican revolutionaries. For 10 points each:

[10] Name this Emperor of Austria whose long reign saw several wars against Italian nationalists, the murder of his wife Elisabeth, and the July Crisis leading to World War I.

ANSWER: Franz Josef I [accept Francis Joseph I]

[10] The Third War of Italian Independence saw the liberation of this city as part of the Kingdom of Italy. It had formerly ruled a “Most Serene Republic” that controlled a maritime trading empire. It is also known as the “Queen of the Adriatic.”

ANSWER: Venice [accept Venezia]

[10] This nephew of Franz Josef became heir presumptive after the suicide of Crown Prince Rudolf and his own father’s death. His assassination by Bosnian nationalist Gavrilo Princip set off the July Crisis.

ANSWER: Franz Ferdinand <RY>

15. The protagonist meets Ireneo, who becomes crippled in a horseback riding accident, in a short story from this collection. For 10 points each:

[10] Name this collection of short stories including Funes, the Memorious and one about a Chinese German spy, Dr. Yu Tsun, The Garden of Forking Paths.

ANSWER: Ficciones

[10] This blind Argentinian author of Ficciones wrote about a Frenchman who recreates the works of the title author in Pierre Menard, Author of the Quixote.

ANSWER: Jorge Luis Borges

[10] The title location of this Borges short story consists of hexagonal rooms filled with books of every permutation of a sequence of letters and spaces.

ANSWER: “The Library of Babel” <YC>

16. Name these related architects, for 10 points each:
[10] This Roman siege engineer described aqueducts, mining technology and the perfection of Greek architecture and the proportions of the human body in his treatise De Architectura. That work influenced a study by Leonardo da Vinci.
ANSWER: Marcus Vitruvius Pollio
[10] This much later Italian architect illustrated a commentary on Vitruvius and wrote Four Books of Architecture. He designed a number of villas in the Veneto region and influenced architects like Inigo Jones and a certain U.S. president.
ANSWER: Andrea Palladio [accept Andrea di Pietro della Gondola]
[10] This U.S. president was influenced by Palladio in his design of the Rotunda of the University of Virginia, and his mansion, Monticello.
ANSWER: Thomas Jefferson <RY>

17. A study by Card and Kruger controversially concluded that its increase did not affect employment rates. For 10 points each:

[10] Name this term for the lowest amount that employers may legally pay to their workers.

ANSWER: minimum wage

[10] A minimum wage is a price floor, which often causes this type of economic inefficiency, represented graphically as a triangular region. Its causes include externalities and binding price ceilings or floors.

ANSWER: deadweight loss [accept excess burden or allocative inefficiency]

[10] When deciding whether to hire another worker, a firm must decide whether the value of this quantity is greater than the next worker’s wage. This quantity is the change in output that would result from hiring another worker.

ANSWER: marginal (physical) product of labor [accept MPL or MPN] <BM>

18. Brans-Dicke theory, a rival of this framework, replaces the gravitational constant with a space-varying scalar field. For 10 points each:

[10] Name this theory of gravitation based on the equivalence principle and Einstein’s field equations, which describes gravity as a result of spacetime curvature and extended an earlier “special” theory.

ANSWER: theory of general relativity

[10] This phenomenon observed in the Pound-Rebka and Ives-Stilwell experiments is a consequence of general relativity. It explains why a clock at a lower altitude will appear to run slower than a clock at a higher altitude.

ANSWER: gravitational time dilation

[10] General relativity predicts that binary star systems and other asymmetrical rotating bodies give off these spacetime disturbances, which would carry gravitational radiation. LIGO currently leads efforts to detect them.

ANSWER: gravitational waves [accept gravity waves] <LC>

19. Sartre read this work while being held as a prisoner of war. For 10 points each:
[10] Name this incomplete work that opens with the observation that, over two thousand years of history, philosophy had neglected to address the fundamental question of ontology, the first of its two title concepts.
ANSWER: Being and Time [or Sein und Zeit]

[10] Being and Time is a work by this philosopher and former lover of Hannah Arendt, who defended him during Denazification, saying that his Nazi sympathies had been a personal error.
ANSWER: Martin Heidegger

[10] Heidegger’s version of this existential concept can befall Dasein when it confronts its authentic self outside of the they. It is often translated as “dread” or “anxiety.” Teenagers seem to be particularly susceptible to it.

ANSWER: angst <MZ>

20. Its constitution was called the Great Rhetra and it was known for its many helot slaves. For 10 points each:

[10] Name this Dorian Greek city-state known for its austerity and its strong military.

ANSWER: Sparta [accept Lacedaemon]

[10] This Spartan general won Battle of Aegospotami and installed the Thirty Tyrants to ensure Spartan dominance in Greece after the Peloponnesian War.

ANSWER: Lysander

[10] Spartan hegemony was ended at the Battle of Leuctra by the brilliant tactician Epaminondas, largely due to this city’s elite Sacred Band infantry. Alexander the Great later defeated that infantry and ended this city’s brief domination of Greece.

ANSWER: Thebes <RY>

TB. Name some methods of mathematical proof, for 10 points each:

[10] To use this method of proof, one first assumes the opposite of the statement to be proven, then shows that such an assumption leads to a logical impossibility. The irrationality of the square root of 2 can be proven in this manner.

ANSWER: proof by contradiction [accept reductio ad absurdum]

[10] This method establishes that the statement to be proven is true for 1, shows that if the statement is true for k then it is true for k+1, then concludes, by a namesake principle, that the statement is true for all natural numbers.

ANSWER: proof by the principle of mathematical induction

[10] To disprove a statement P by this method with a Latin name, one first proves the statement “If P, then Q,” then shows that Q is false. It takes advantage of the fact that a statement has the same truth value as its contrapositive.

ANSWER: proof by modus (tollendo) tollens [do not accept “modus ponens”] <LC>

